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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
&S X 4 E;%;‘c? ‘Fﬁﬁ“ﬁb\(‘z)o)ﬁﬁiﬁﬁ 73(:;?”%3 X 4 Tﬁﬁfé\;g‘;ﬁ;k$ ‘(.%.r'na; jj(gifr:ié X 4 ;.g,r‘na‘)r J:ﬁ#‘m\(i)o)tt‘.é.' jj(ﬁ?ﬁ)é X 4 J:ﬁﬁ‘ﬁ?ﬁ‘(i)o)tt% ‘(ri? jj(ﬁzcrié
7 100kN/m%z#8z5 | 1.00 | 000 ~ 165 12519 |3mZz#EZ2| — ~ — — — | 100kN/mM%&#8z2% | 1.00 | 11.01 ~ 1810 12519 |3m&E#BZ% - ~ — — —
st 1.00 | 1.65 ~ 943 100.00 | #nLSt | 0.00 ~ 943 | 2.22 11.91 st 1.00 | 5.00 ~ 1101 100.00 | =nst | 6,00 ~ 1810| 2.22 11.91
2 100kN/m%E#8z5 | 1.00 | 000 ~ 1.45| 12204 |3mZz#Z3| — ~ — — — | 100kN/ %825 | 1.00 | 11.71 ~ 19.10| 12204 |3mE#BZ% - ~ — — —
ZhLst 1.00 | 1.45 ~ 923 100.00 | #hst | 000 ~ 923|215 11.53 FnLsn 1.00 | 5.00 ~ 1171 100.00 | #ns | 6.00 ~ 19.10| 2.15 11.53
3 100kN/m%z#8z5 | 1.00 | 000 ~ 1.65| 12520 |3mZz#Z3| — ~ — — — | 100kN/m%E#25 | 1.00 | 1210 ~ 2270 125.20 |3mEEZ5 - ~ — — —
st 1.00 | 1.65 ~ 943 100.00 | =nLst | 0.00 ~ 9.43 | 2.43 12.98 ThList 1.00 | 5.00 ~ 1210 100.00 | =nst | 6,00 ~ 2270| 243 12.98
4 100kN/m%z#8z% | 1.00 | 000 ~ 1.88| 12901 |3mZz#z3| — ~ — — — | 100kN/M%&#82% | 1.00 | 1237 ~ 2890 129.01 |3m%E#BZ% - ~ — — —
st 1.00 | 1.88 ~ 967 100.00 | #nst | 000 ~ 967|271 14.52 st 1.00 | 6.00 ~ 1237 100.00 | =nhst | 6.00 ~ 2890 2.71 14.52
5 100kN/m%z#Z5| 100|000 ~ 195 13003 |3m&EEZB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1204 ~ 2700 130.03 |3mEEZS - ~ — — —
st 1.00 | 195 ~ 973 100.00 | =nLsy | 000 ~ 9.73 | 2.74 14.65 ThList 1.00 | 5.00 ~ 1204 100.00 | =nLst | 6.00 ~ 2700 2.74 14.65
P 100kN/m%z#Z5| 100|000 ~ 212 13288 |3m&E#ZB| — ~ — — — | 100kN/m%E#8z5 | 1.00 | 11.57 ~ 2600 132.88 |3mZE#BZ% - ~ — — —
zhLst 1.00 | 212 ~ 991 100.00 | #nst 000 ~ 991|278 14.88 FnLsn 1.00 | 6.00 ~ 1157 100.00 | 0S| 6.00 ~ 2600 2.78 14.88
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




